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I ’a mwn: locational and circumstantial parameters of awa 311
a  if: someone throws a rock into the public area and kills someone — n%3
i challenge: this is a case of Tt
1 answer: case is where he was demolishing his wall
2 block: he still must look where he’s throwing the rocks
(a) answer: he’s throwing them into a dung heap that is generally used by people — but only at night
(b) and: occasionally used during day = not 7 (rarely used then); not onR (sometimes used) = non
b »7axn7. if the person came out after the rock was thrown and “met” it — %1 1R — as per Rxn (v. 1)
i tangent: philological inquiry into xxn (v. 2)
¢ if he threw it into his own yard and killed
i if: the victim had permission to be there — n%w; if not — exempt
ii  asper:v.1-model -a forestisa place where both killer and victim have the right to enter
1 which excludes: the private yard of the 2”nya
d 5w Nax:just as chopping wood is a non-commanded act, only non-commanded acts could lead to m>
i excluding: father/teacher punishing child/student or 772 n>w
ii  analysis: student asked &11 - perhaps it even refers to going to chop wood for mxn (e.g. n37yn »xy)
1 answer: there is no inherent mxn; if the wood is already chopped, sufficient
(a) challenge: our mwn — if the student studied well, no mxn to punish him
(b) retort: v. 3 implies that there is a value in corporal punishment in any case
(i) rejected (by &37himself): 7R (v. 1) implies options
1. challenge: 9wR in v. 4 doesn’t imply options — there is mxn nn
2. answer: other phrases in that nw1a imply necessary nkmv (and to include o195 q01nn0)
(c) alternative version: this line of reasoning was used to support Y&ynw "1 in re: vv. 5-6 and naw nmT mxn Pp
II 13 mwn: extent of relationships leading to m%
a  All: even son to father, father to son, for any Jew; except for a 2w1n 73; a n”a only generates m> for another 2vin 7
i Father: only if he punished him outside of the context of his training (cf. 'a nywn above)
ii ~ Son:challenge from v. 7 — excludes son killing father from mb»
1 Answerl (37): X1 is v, who holds »1n to be “lighter”; 9o n»w (murder) has 7193, pan nw (father) doesn’t
(a) And: nawn follows 1329, who hold pan to be “lighter”
2 Answer2 (X27): R is excluding wounding father amwa; R"70 since he would die Tma->mb, Y"np
iii  For any Jew: includes 'm> 7ay; as per ®n»1a which makes this reciprocal re: execution and mpn
1 Challenge: we understand if an >m1 7ay kills a Y87; but why the inverse?
(a) Clarification: we understand killing, but (assuming n? is case of n%5p), v. 8 should exclude T2y
(i) Answerl: case where he testified and nnin
1. Challenge: an T2y cannot testify
(ii) Answer2: if he hit him with an attack that was 9”9n mna-> mpon (&no nNRaN::NYoP)
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iv  Exception: 290 7
1 Inference: a n"y:non-Jew
(a) Challenge: end of mwn — he is n%W if he kills another n”
(i) Resolution (82772 79): if he kills a Y87, no m9a (killed); if he kills a n”s — exile
(b) Alternate take: vv. vv.9-10 contradict each other
(i) Resolution (57): as above; if he kills a Y8719 no my; if he kills another n”s — exile
2 Challenge: ruling that a " and n”) who killed — are killed (no mbs);
(a) Note: n"ais equated to »; no distinction if he kills his own kind or not — nnn, no m9
(i) Answerl (n™):if he kills on the way down, which is m¥) for Y81w7, m¥) for n”
1. But: if he kills on his way up — 9871 109, he is killed
2. Challenge (827): the reasoning is convoluted — if Y811, on the way up is less culpable, why should
he be killed for it?
(if) Answer2 (827): if he thinks its permissible — as per X27's approach that 75 217p Imn IR
3 Tangent: status of 9mn MR, in case where he thought his intended victim was a X704 92
(a) X327 7MY P 210N
(b) n”ronR >0
(i) Arguments:
1. »#27 v. 11 — T9mar was going to die even though he thought n7w was unmarried
a.  Counter: perhaps it means nnw »13, as per v. 12
b.  Block: v 13, which is certainly oTX »1a (intended adultery) uses the same phrase
2. »ar (contra 837): v. 14 — 19maR is called “innocent”
a.  Counter: as per »1nM1 92 YRINWY '7's explanation of v. 15
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